
ecd.st 
[MarkedEventData: S ⨉ T ⨉ Q set]

aggregate.st
[S ⨉ T ⨉ Q set ⇒ R ⨉ (I set) ⇒ Qstat ⇒ Q ⇒ I ⨉ Q set]

x

STFDF.MarkedEvent
[Q set ⇒ T set ⇒ S set ⇒ T set ⇒ S ⨉ T ⨉ Q set]

ecd.locations 
[S set]

sp

ecd.years 
[T set]

time

getTimeIntervals
[T set ⇒ Q set ⇒ I set]

T_set

ecd.data 
[Q set]

data

target.years 
[I set]

STF.sem
[R ⇒ I set ⇒ R ⨉ (I set)]

time

c(4, 6, 8, 10, 12)
[Q set ⇒ Q set]

breaks

target.st 
[R ⨉ (I set)]

by

FL 
[R]

sp

ts 
[TLatticeData: I ⨉ Q set]

sum 
[Qstat]

FUN

TRUE

na.rm


